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ÍÛæ̃ Û¶ÛÛ :   (1) þùÁéõïõ ¸ÛóÊ¶Û¶ÛÛ •Ûä¨Û ÍÛ¾ÛÛ¶Û ™öé. 
Instruction :  All questions carry equal marks. 

    (2) ¸ÛóÊ¶Û¶ÛÛ ’õ¾ÛÛ×ïõ ¸Ûó¾ÛÛ¨Ûé›÷ Š«ÛÁõ¶ÛÛé ’õ¾ÛÛ×ïõ ÁõÛ”ÛÛé. 
     Keep the same order of questions and its answers. 
     
1. (A) ïäõÅÛ –ÛÁéõÅÛä× ¸ÛéþùÛÉÛ (GDP) …é¤øÅÛé ÉÛä× ? ¼Û›ÛÁõ½ÛÛÈÛé ïäõÅÛ –ÛÁéõÅÛä× ¸ÛéþùÛÉÛ (GDPMP) …¶Ûé ÜÍ¬ÛÁõ 

½ÛÛÈÛé ïäõÅÛ –ÛÁéõÅÛä× ¸ÛéþùÛÉÛ (GDPCP) ÍÛ¾Û›ÛÈÛÛé. 14 
  What is (GDP) Gross Domestic Product ? Explain GDP at market price 

(GDPMP) and GDP at constant price. (GDPCP). 
          …¬ÛÈÛÛ/OR 
 (B) ÁõÛÌ¤ÖøàýÛ …ÛÈÛïõ¶Ûà •Û¨Û©ÛÁõà¶Ûà ¸Û±ùÜ©Û…Ûé ›÷¨ÛÛÈÛÛé. 
  Give the methods of measuring National Income.  

2.  (A) ½ÛÛÁõ©Û¾ÛÛ× ”Ûé©Ûà“ÛéªÛ, …Ûíé²ÛéÜ•Ûïõ“ÛéªÛ …¶Ûé ÍÛéÈÛÛ“ÛéªÛ¶ÛÛé ÁõÛé›÷•ÛÛÁõà¾ÛÛ× ºõÛÇÛé ÈÛ¨ÛÙÈÛÛé. 14 
  Give the contribution of primary (agricultural), secondary (Industrial) and 

tertiary (Service) sectors in employment. 
     …¬ÛÈÛÛ/OR 
 (B) ½ÛÛÁõ©Û¾ÛÛ× 1991 ¸Û™öà ÁõÛÌ¤ÖøàýÛ …ÛÈÛïõ¶ÛÛ ÈÛèÜ±ù þùÁõ¶ÛÛ ÈÛÅÛ¨ÛÛé ›÷¨ÛÛÈÛÛé. 

 Give trends of growth of National Income since after 1991 in India.  

3.  (A) ÐüÜÁõýÛÛÇà ’õÛ×Ü©Û¶ÛÛé …¬ÛÙ ÍÛ¾Û›ÛÈÛà ©Ûé¶ÛÛ –Û¤øïõÛé¶Ûà ÍÛ¾Û›æ÷©Ûà …Û¸ÛÛé. 14 
  Give the meaning of Green Revolution and Explain its components. 

…¬ÛÈÛÛ/OR 
 (B) ½ÛÛÁõ©Û¾ÛÛ× ”Ûé©Ûà“ÛéªÛé ¶Ûà˜Ûà Š©¸ÛÛþùïõ©ÛÛ¶ÛÛ ïõÛÁõ¨ÛÛé ›÷¨ÛÛÈÛà Š©¸ÛÛþùïõ©ÛÛ ÈÛµÛÛÁõÈÛÛ¶ÛÛ ¸Û•ÛÅÛÛ…Ûé 

›÷¨ÛÛÈÛÛé. 
  Give causes of low productivity in Indian agriculture and explain measures to 

improve productivity.  

4.  (A) ÈÛÍ©Ûà ÍÛ×’õ¾Û¨Û¶ÛÛé ÜÍÛ±ùÛ×©Û ½ÛÛÁõ©ÛàýÛ …¬ÛÙ©Û×ªÛ¶ÛÛ ÍÛ×þù½ÛÙ¾ÛÛ× ÍÛ¾Û›ÛÈÛÛé. 14 
  Explain the theory of demographic transition with respect to Indian Economy. 

…¬ÛÈÛÛ/OR 
 (B) ½ÛÛÁõ©Û¾ÛÛ× ¼ÛÛÇ¾Ûè©ýÛäþùÁõ, ›÷¶¾ÛþùÁõ, ¾ÛÛ©Ûè«ÈÛ ¾Ûè©ýÛäþùÁõ …¶Ûé ÍÛÁéõÁõÛÉÛ …ÛýÛäÌýÛ¶Ûà ÍÛ¾Û›æ÷©Ûà …Û¸ÛÛé. 
  Explain Infant Mortality Rates, Birth Rates, Maternal Mortality Rate (MMR) 

and average life expectancy in India. 
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5. ›÷¨ÛÛÈýÛÛ ¸Ûó¾ÛÛ¨Ûé ïõÁõÛé. 14 

 Do as directed : 

 (A) ”Ûæ¼Û›÷ ¤æ×øïõÛ ›÷ÈÛÛ¼Û …Û¸ÛÛé. (ïõÛéˆ¸Û¨Û ˜ÛÛÁõ) 4 

  Write very short answers : (any four) 

  (1) ÜÍ¬ÛÁõ ½ÛÛÈÛé ÁõÛÌ¤ÖøàýÛ …ÛÈÛïõ …é¤øÅÛé ÉÛä× ? 

   What is National Income at constant prices ? 

  (2) ˜ÛÛÅÛä ½ÛÛÈÛé ÁõÛÌ¤ÖøàýÛ …ÛÈÛïõ …é¤øÅÛé ÉÛä× ? 

   What is National Income at current prices ? 

  (3) ¼ÛÛÇ¾Ûè©ýÛä þùÁõ …é¤øÅÛé ÉÛä× ? 

   What is Infant Mortality Rate ? 

  (4) ÈÛÍ©Ûà¶Ûà •Ûà˜Û©ÛÛ …é¤øÅÛé ÉÛä× ? 

   What is Density of Population ? 

  (5) ›÷¾Ûà¶Û ÍÛäµÛÛÁõÛ…Ûé¶ÛÛé …¬ÛÙ. 
   Meaning of Land Reforms. 

  (6) ÐüÜÁõýÛÛÇà ’õÛ×Ü©Û¶ÛÛé …¬ÛÙ. 
   Meaning of Green Revolution. 

 (B) ¶Ûà˜Ûé¶ÛÛ ÈÛÛîýÛÛé ÍÛÛ˜ÛÛ ™öé ïéõ ”ÛÛé¤øÛ ©Ûé ›÷¨ÛÛÈÛÛé. 5 

  State whether the following are true or false : 

  (1) ÁõÛÌ¤ÖøàýÛ …ÛÈÛïõ ¾ÛÛ¸ÛÈÛÛ¶Ûà ªÛ¨Û ¸Û±ùÜ©Û…Ûé ™öé. 
   National Income is measured by three methods. 

  (2) ¾ÛÛ¬ÛÛþùà¥ø …ÛÈÛïõ …é ÍÛÁéõÁõÛÉÛ …ÛÈÛïõ ™öé. 
   Per capita Income is an average income. 

  (3) 1991¾ÛÛ× ŠþùÛÁõàïõÁõ¨Û¶Ûà ¶ÛàÜ©Û¶Ûà ÉÛÄõ…Û©Û ¬Ûˆ. 
   Liberalization policy introduced in 1991. 

  (4) ¼ÛÛ×µÛïõÛ¾Û“ÛéªÛ ¸ÛóÛ¬ÛÜ¾Ûïõ ÜÈÛ½ÛÛ•Û¾ÛÛ× …ÛÈÛé ™öé. 
   Construction sector belongs to primary sector. 

  (5) GDP …¶Ûé GNP ¾ÛÛ× ïõÛéˆ ©ÛºõÛÈÛ©Û ¶Û¬Ûà. 
   There is no difference between GDP and GNP.  

 (C) …Û¸ÛéÅÛÛ ›÷ÈÛÛ¼ÛÛé¾ÛÛ×¬Ûà ÍÛÛ˜ÛÛé ›÷ÈÛÛ¼Û ÅÛ”ÛÛé. 5 

  Choose the correct option : 

  (1) ¼Û›ÛÁõ Ýïõ¾Û©Ûé ïäõÅÛ …Û×©ÛÜÁõïõ ¸ÛéþùÛÉÛ¶Ûé ÉÛä× ïõÐéüÈÛÛýÛ ? 
   (a) GNPmp (b) GDPMP 

   (c) NNPFC (d) GNIFC 

   What is gross domestic product at market price ? 

   (a) GNPmp (b) GDPMP 

   (c) NNPFC (d) GNIFC 
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 (2)  ˜ÛÛé””Ûà …Û×©ÛÜÁõïõ ¸ÛéþùÛÉÛ¶Ûé ÉÛä× ïõÐéüÈÛÛýÛ ™öé ? 
  (a) NDP  (b) GDP 

  (c) GNP  (d) NNP 

  What is Net Domestic Product ? 

  (a) NDP  (b) GDP 

  (c) GNP  (d) NNP 

 (3)  ÜÍ¬ÛÁõ½ÛÛÈÛé •Û¨ÛÈÛÛ¾ÛÛ× …ÛÈÛ©Ûà ÁõÛÌ¤ÖøàýÛ …ÛÈÛïõ¶Ûé ÉÛä× ïõÐéüÈÛÛýÛ ™öé ? 
  (a) ÈÛÛÍ©ÛÜÈÛïõ (b) ¶ÛÛ¨ÛÛ×ïõàýÛ 
  (c) ˜ÛÛé””Ûà (d) ïäõÅÛ 
  What is called National Income, when it is calculated at constant price ?  

  (a) Real  (b) Monetary 

  (c) Net  (d) Gross 

 (4)  …ÛÜ¬ÛÙïõ ÍÛäµÛÛÁõÛ¶ÛÛ ïéõ¤øÅÛÛ× –Û¤øïõÛé ™öé ? 
  (a) ªÛ¨Û (b) ˜ÛÛÁõ 
  (c) ¸ÛÛ×˜Û (d) ¼Ûé 
  How many components of economic reforms ?  

  (a) Three (b) Four 

  (c) Five  (d) Two 

 (5)  …ÛÜ¬ÛÙïõ ÍÛ«ÛÛ¶Ûä× ïéõ¶®ùàïõÁõ¨Û …¶Ûé ˆ›ÛÁõÛÉÛÛÐüà …¤øïõÛÈÛÈÛÛ ¾ÛÛ¤éø¶ÛÛé ïõÛýÛþùÛé ïõýÛÛé ™öé ? 
  (a) MTPT (b) MRR 

  (c) MRTP (d) MCRT 

  Which law is in place to control economic powers and monopoly ?  

  (a) MTPT (b) MRR 

  (c) MRTP (d) MCRT 

___________ 



DO-117 4  

 
 


